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#u -3 8 g7 A FVFE | REEF [F2muray | TR T | |Mrskesang [47erp2edp| KPR
R - 22, 800 4, 620 0 120 165 790 150 1,000 5,000
R = 22,800 4,900 0 120 165 1,180 150 1,000 3,500
FR = 22,800 4,900 0 120 165 1,180 150 1,000 4,200

S - 22,530 3, 365 2,970 120 165 1,180 150 1,000 5,500
e = 22,530 3, 365 2,970 120 165 1,180 150 1,000 3, 800

i o = 22,530 3, 365 2,970 120 165 1,180 150 1,000 5,200

Fap - 22,530 3, 365 2,970 120 165 1,180 150 1,000 5,500

Fap = 22,530 3, 365 2,970 120 165 1,180 150 1,000 3, 800

Fap = 22,530 3, 365 2,970 120 165 1,180 150 1,000 5,200
EPEERPH - 22,530 3, 365 2,970 120 165 1,070 150 1,000 5, 300
EPEERPH = 22,530 3, 365 2,970 120 165 1,180 150 1,000 5,400
EPEERPH = 22,530 3, 365 2,970 120 165 1,180 150 1,000 7,000
TR I - 22,530 3, 365 2,970 120 165 1,180 150 1,000 4,700

TR R = 22,530 3, 365 2,970 120 165 1,180 150 1,000 4,000

TR R = 22,530 3, 365 2,970 120 165 1,180 150 1,000 5,000
RE2&# - 22,530 3,300 2,970 120 165 620 150 1,000 5,500
RERVP = 22,530 3,300 2,970 120 165 1,180 150 1,000 5, 500

) S = 22,530 3,300 2,970 120 165 1,180 150 1,000 7,000
& - 22,530 3, 365 2,970 120 165 620 150 1,000 4,800

AP (BR) - 22,530 3, 365 2,970 120 165 620 150 1,000 4,800
BAEM (R HEAF) - 22,530 3, 360 2,970 120 165 620 150 1,000 4,700
& = 22,530 3, 365 2,970 120 165 0 150 1,000 4,800

AP (BR) = 22,530 3, 365 2,970 120 165 0 150 1,000 5,100
REGHF (R T HAF) = 22, 530 3, 360 2,970 120 165 0 150 1,000 3,600
& = 22,530 3, 365 2,970 120 165 0 150 1,000 5,000

R (T HEAF) = 22, 530 3, 360 2,970 120 165 0 150 1,000 3,500
BRI R = 21, 230 2,305 2,970 120 165 1,180 150 800 4,300
BRI R = 21, 230 2,305 2,970 120 165 1,180 0 800 3,300
O RLEE B8 o = 21, 230 2,305 2,970 120 165 0 150 800 2,900
O RLEE B8 o = 21, 230 2,305 2,970 120 165 0 0 800 3,000




